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Q 1) The following question contains seven multiple choice problems, each is 1.5 mark. 
Write (x) on the correct answer. 

1) If f(x) = ~+. 1 , g(x) = J x2 + 3x- I , then (fo _g)Q) = 
x -,- l -=-. ---=--

(a) + (h) f ~ (d) f (e) f 

2) If f(x) = x2 , g(x) = fX+T, then Domain fog = 
"' - .5"' (a)~ (b)~\{-1} (c)(-oo,-1) (d)(-oo,1] ~,oo) 

3) If log·,..(5x - 4) = 2, then x = 

@ {1,4} (b) {I} ~ {4} (d) {1,3} (e) {3} 

4) If f(x) = e" + 3e-x - I, then r-1 (3) = 

~ (b)l~(f) (c)ln(-j-) (d) ln(y) (e) In( f) 

5) If x = + ln9- ln2, then e2x = 
(a) e3 (b) 3 (c) f (e) f 

;t-6) If f(x) = 4+2~osx, then range f = 

(al[t ,f] ~f] (c)[·HJ (d) [ +, + J (e) none 

7) Let f~ 0 is shifte<f2.~~its right, 3~ts up t~ reflec~ a~ou_! the 
Y-axis, · .· we obtained, - ..=----- -. -· - .-=s 

~ g(x) = x2 + 2x ~J ~b) g(x) = x2 -2x+ ,3 (c) g(x) = x2 + 2x - 3 
(d) g(x) = x2 - 2x- 3 e ~x) = x2 - 6x+ 3 /'-
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